




q = 80
That's Why We Praise Him by Tommy Walker

© 1999 We Mobile Music

1. 




2.


30 Oct 2005

(Capo 3)


Intro
C(A) G(E) F(D) F(D)

(1)


He came


to

 

                         
  

         
        






4


live,
live,


C(A)  G(E)

live
live

a
a

per
gain

 
-

F(D)

fect
in

-

 
life;
us;

  
He
He

came
came


to
to

be
be

  
C(A)  

the
our

G(E)

liv
con


ing

quering
-

-

 

    
 


 


      

 


 
      

 
    

   
7


Word
King

of
and

F(D)

 
Life;

Friend;

  
He
He

came
came


to
to

die
heal

  C(A)  
so

and

G(E)

we'd
show


be
the

re
lost

 
con
ones

F(D)

-
His

 
ciled;
love;

-

  
He
He

came
came


to
to

 

 
       

   
 


 


  

   
 

    
      

 
  

10


rise,
go

C(A)  
to
pre

G(E)

show
pare



-
His
a

power
place

  F(D)

and
for


might.
us.

 G(E) 
That's

C(A)

why we

 
praise

G(E) 
Him;

  

    
     


 

  


 
             

    



13


That's

F(D)

why we

 
sing;

   G(E)

That'swhy

C(A)

we

 
of

 
fer

G(E)

- Him

 
our ev

  F(D)

'ry


- thing


-

G(E) 

 
 

  


 
      

   
      

            
16


That's

C(A)

why we

 
bow

G(E) 
down

  
and


wor

F(D)

ship- this

 
King,

   
'cause He

 

 
 

  


 


 


 
        

   
18


gave


Dm7(Bm7)

His

C/E(A)

ev

  
F(D)

'ry- thing,

 
Am(F#m) 

'cause He gave

  
Dm7(Bm7)

His

C/E(A)

ev

  
F(D)

'ry-



                


               
21 1. 




2.


thing.


C(A) G(E) F(D)

(2)


He came


to

  F(D) G(E) C(A)

                
  

      
                    

2


